
139

139

13
9

139 139

AD–212

B.A. Part—III (Semester—VI) Examination

HOME ECONOMICS
(Human Development)

(Optional Subject)

Time : Three Hours] [Maximum Marks : 50

Note :— (1) All questions are compulsory.

(2) All questions carry equal marks.

1. Explain the role of Nuclear Family in the development of child.

OR

Explain law of heredity.                                                    10

2. Choose correct alternative :

(1) Factors affecting personality development :

(a) Friends (b) Family and neighbours

(c) School (d) All of these

(2) Defence mechanism was invented by :

(a) Freud (b) Alport

(c) Thomas (d) None of these

(3) Types of personality are :

(a) Sociological (b) Body composition

(c) Psychological (d) All of these

(4) These people are timid in nature :

(a) Introvert (b) Extrovert

(c) Ambivert (d) None of these

(5) These are psychological personality types :

(a) Introvert (b) Extrovert

(c) Ambivert (d) All of these

(6) To hide the faults in oneself accuse other persons or thing :

(a) Projection (b) Rationalization

(c) Displacement (d) None of these

(7) There are __________ types of self concept.

(a) Two (b) Four

(c) Eight (d) Three
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(8) Obese person is the form of personalities :

(a) Intelligence (b) Geography

(c) Body composition (d) None of these

(9) It is a primary defence mechanism :

(a) Repression (b) Projection

(c) Displacement (d) None of these

(10) The secretion secreted by the thyroid gland is called :

(a) Insulin (b) Thyroxine

(c) Cartin (d) None of these 1×10=10

3. Write :

(a) Types of Leadership.

(b) Importance of Sex Education.

(c) Causes for Thumb Sucking.

(d) Qualities of Leadership. 

OR

(e) Educational difficulties of Visually Handicapped.

(f) Causes for Stealing.

(g) Lying of Remedies.

(h) Auditory Handicapped. 2½×4=10

4. Describe the physical changes during adolescence.

OR

Describe factors affecting emotional development. 10

5. Write :

(a) Authoritarian parenting

(b) Relation between parents and child

(c) Uninvolved style

(d) Democratic parenting style.

OR

(e) Permissive parenting style

(f) The influence of television

(g) Parenting challenge – Junk food

(h) Influence of Social Media. 2½×4=10

LT—834 2 (Contd.)
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AD–212

B.A. Part—III (Semester—VI) Examination

HOME ECONOMICS

(Human Development)

(Optional Subject)

Time : Three Hours] [Maximum Marks : 50

¼ejkBh ek/;e½

lwpuk :— (1) loZ iz’u vko’;d vkgsr-

(2) loZ iz’ukauk leku xq.k vkgsr-

1. ckydkP;k fodklkr foHkDr dqVqackph Hkwfedk Li"V djk-

fdaok

vuqoaf’kdrsps fu;e Li"V djk-                                          10

2. ;ksX; i;kZ; fuoMk %

(1) O;fDreRo fodklkoj ifj.kke dj.kkjs ?kVd %

¼v½ fe= ¼c½ dqVqac o ’kstkjh

¼d½ ’kkGk ¼M½ ;kiSdh loZ

(2) laj{k.k ;a=.kspk ’kks/k ;kauh ykoyk %

¼v½ ÝkWbZM ¼c½ vyiksVZ

¼d½ FkkWel ¼M½ ;kiSdh ukgh

(3) O;DrheRokps izdkj vkgsr %

¼v½ lekt’kkL=h; ¼c½ ’kjhj jpusuqlkj

¼d½ euksoSKkfud ¼M½ ;kiSdh loZ

(4) ;k O;Drh ladksph LoHkkokP;k vlrkr %

¼v½ vareqZ[kh ¼c½ cfgeqZ[kh

¼d½ mHk;eq[kh ¼M½ ;kiSdh ukgh

(5) euksoSKkfud O;DrheRokps izdkj vkgsr %

¼v½ vareqZ[kh ¼c½ cfgeqZ[kh

¼d½ mHk;eq[kh ¼M½ ;kiSdh loZ

(6) Lor% e/khy nks"k yifo.;kdjhrk brj O;fDr fdaok oLrqoj vkjksi dj.ks Eg.kts %

¼v½ iz{ksi.k ¼c½ feF;kleFkZu

¼d½ foLFkkiu ¼M½ ;kiSdh ukgh
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(7) LoladYiusps izdkj vkgsr %

¼v½ nksu ¼c½ pkj

¼d½ vkB ¼M½ rhu

(8) LFkqG izd‘rh ;k O;DrheRokpk izdkj vkgs %

¼v½ cq)heÙkk ¼c½ HkkSxksyhd

¼d½ ’kjhjjpusuqlkj ¼M½ ;kiSdh ukgh

(9) gh izkFkehd Lo:ikphlaj{k.k ;a=.kk vkgs-

¼v½ neu ¼c½ iz{ksi.k

¼d½ foLFkkiu ¼M½ ;kiSdh ukgh

(10) daBLFk xzaFkhe/kwu fuekZ.k gks.kkÚ;k L=kokyk Eg.krkr %

¼v½ bUlqyhu ¼c½ Fkk;jkWDlhu

¼d½ dkfVZu ¼M½ ;kiSdh ukgh 1×10=10

3. Li"V djk %

¼v½ usr‘Rokps izdkj-

¼c½ ySxhd f’k{k.kkps egRo-

¼d½ vaxBk pks[kO;kph dkj.ks-

¼M½ usr‘Rokps xq.k-

fdaok

¼b½ us=nks"k vl.kkÚ;k ckydkP;k leL;k-

¼Q½ pksjh dj.;kph dkj.ks-

¼x½ [kksVs cksy.ks&mik; ;kstuk-

¼g½ Jo.k nks"k- 2½×4=10

4. fd’kksjoLFksrhy ’kkjhfjd cny Li"V djk-

fdaok

HkkoukRed fodklkoj ifj.kke dj.kkjs ?kVd fygk- 10

5. fygk %

¼v½ gqdqe’kkgh ikydRo-

¼c½ ikyd ckyd laca/k-

¼d½ n[ky u ns.kkjh i)rh-

¼M½ yksd’kkgh izo‘Ùkhps ikydRo-

fdaok

¼b½ eqDÙk ckylaxksi.k i)rh-

¼Q½ nqjfp=ok.khpk izHkko-

¼x½ ikydka leksjhy vkOgku&tad QwM-

¼g½ lkekftd izlkj ek/;ekpk izHkko- 2½×4=10
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Time : Three Hours] [Maximum Marks : 50

¼fgUnh ek/;e½

lwpuk :— (1) lHkh iz’u vfuok;Z gSaA

(2) lHkh iz’uksa ds leku vad gSaA

1. ckyd ds fodkl esa foHkDr ifjokj dh Hkwfedk Li"V dhft;sA

vFkok

vuqoaf’kdrk ds fu;e Li"V dhft,A                                     10

2. lgh fodYi pqfu;s %

(1) O;fDreRo fodkl dks izHkkfor djus okys ?kVd %

¼v½ nksLr ¼c½ ifjokj vkSj iMkslh

¼d½ fo|ky; ¼M½ buesa ls lHkh

(2) lqj{kk ra= dk vfo"dkj bUgksaus fd;k %

¼v½ ÝkWbZM ¼c½ vyiksVZ

¼d½ FkkWel ¼M½ buesa ls ugha

(3) O;DrheRo ds izdkj gSa %

¼v½ lekt’kkL=h; ¼c½ ’kjhj jpusuqlkj

¼d½ euksoSKkfud ¼M½ buesa ls lHkh

(4) ;g yksd ladksph o‘Ùkh ds gksrs gSa %

¼v½ vareqZ[kh ¼c½ cfgeqZ[kh

¼d½ mHk;eq[kh ¼M½ buesa ls ugha

(5) euksoSKkfud O;DrheRo ds izdkj gSa %

¼v½ vareqZ[kh ¼c½ cfgeqZ[kh

¼d½ mHk;eq[kh ¼M½ buesa ls lHkh

(6) vius nks"k  dks fNikus ds fy;s vyx O;Drh vkSj oLrq ij nks"k nsuk %

¼v½ iz{ksi.k ¼c½ feF;kleFkZu

¼d½ foLFkkiu ¼M½ buesa ls ugha
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(7) LoladYiuk ds izdkj gSa %

¼v½ nks ¼c½ pkj

¼d½ vkB ¼M½ rhu

(8) LFkqy LoHkko bl O;DrheRo dk izdkj gS %

¼v½ cq)heÙkk ¼c½ HkkSxksyhd

¼d½ ’kjhjjpuk vuqlkj ¼M½ buesa ls ugha

(9) ;g izkFkfed lqj{kk ;a=.kk gS %

¼v½ ne.k ¼c½ iz{ksi.k

¼d½ foLFkkiu ¼M½ buesa ls ugha

(10) daBLFk xzaFkh ls fudyus okys L=ko dks dgrs gSaA

¼v½ bUlqyhu ¼c½ Fkk;jkWDlhu

¼d½ dkVhZu ¼M½ buesa ls ugha 1×10=10

3. Li"V dhft, %

¼v½ usr‘Ro ds izdkjA

¼c½ ySfxad f’k{kk dk egRoA

¼d½ vaxwBk pwlus dk dkj.kA

¼M½ usr‘Ro ds xq.kA

vFkok

¼b½ us=nks"k okyh ckyd dh leL;kA

¼Q½ pksjh djus ds dkj.kA

¼x½ >wB cksyuk ;g leL;k ij mik;A

¼g½ Jo.k nks"kA 2½×4=10

4. fd’kksjkoLFkk ds ’kkjhfjd ifjorZu Li"V dhft,A

vFkok

HkkoukRed fodkl ij izHkko djus okys ?kVd fyf[k,A 10

5. fyf[k, %

¼v½ gqdqe’kkgh ikydRoA

¼c½ ikyd ckyd laca/kA

¼d½ gLr{ksi u djus okyh i)rhA

¼M½ yksd’kkgh izo‘Ùkh dk ikydRoA

vFkok

¼b½ eqDÙk ckylaxksi.k i)rhA

¼Q½ nqjfp=ok.kh dk izHkkoA

¼x½ ikydk leksjhy vkOgk.ks&tad QqMA

¼g½ lkekftd izlkj ek/;e dk izHkkoA 2½×4=10


